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PHILosorPHY

1. According to John Locke which one
of the following is correct?
(A) Primary qualities are derived from
sensations and reflections
(B) Primary qualities are the source
of our time consciousness

(C) Primary qualities are
unchangeable and
indistinguishable from material

objects

(D) Primary qualities are contingent
features of material objects

2. Identify the philosopher from the following
who talked of an intelligent principle (mind or
nous) which is more powerful than matter to

explain the initial motion:

(A) Heraclitus
(B) Thales

(C) Anaxagoras
(D) Ionians

3. “There is no objective truth. What we hold
is only subjective opinion.”
This is the view of
(A) Socrates
(B) The Sophists
(C) Plato
(D) Aristotle

4. Anaximenes holds that air is the

essence of things. Which of the following

alternatives is not true about the nature
of air, according to him?

(A) Air is animate and pervades
throughout space

(B) Itis one and infinite
(C) Itisessential for the sustenance of life
(D) It is indeterminate
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S. For Hume, Knowledge of the self is
impossible, because

(1) There is no way of knowing a
permanent self-substance.

(2) The idea of substance— whether
material or mental— is
meaningless.

(3) We cannot experience a simple and
continued substance called self.

(A) Only (2) is true

(B) Only (2) and (3) are true

(C) Only (1) and (2) are true

(D) All the above statements are true

6. Who/What can destroy monads
according to Leibniz?

(A) Miracle

(B) God

(C) Another monad
(D) Force

7. Which among the following is not
true for Berkeley?

(A) Berkeley admits external objects
independent from mind

(B) Berkeleyavoided solipcismin his
philosophy by introducing God

(C) Things exist through God’s
perception of them

(D) Existence of things absolutely
depends on perception
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8. Consider the Assertion (A) and Reason (R)
and select the correct answer from the codes given
below:

. Aristotle reduces the
distinction between Form
and Matter into
potentiality and actuality.

Assertion (A)

Reason (R) : Matter is potentially
everything but actually
nothing. Whatever makes
it an actual thing — this
or that is its Form.

Codes:

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of (A)

(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

9. Thereisnoreal evil. Evilis mere absence of
good. Which of the following philosophers held
this view?

(A) St. Augustine

(B) St. Anselm

(C) Socrates

(D) St. Thomas Aquinas

10.  Avirtuoussoulisawell organised
soulin which arightalliance exists between reason,
desire and feeling. Which of the following
philosophers held this view?

(A) Anaximenies
(B) Aristotle

(C) Parmenides
(D) Heraclitus
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11. Read the following statements and choose
the correct answer from them:

(1) Socrates was interested in finding
out the correct method of obtaining
knowledge.

(2) For Socrates, to know the truth we
must stop believing in prevailing
opinions.

(3) For Socrates, we need to have reasons
for holding a view.

(4) For Socrates, truth cannot be known
by any amount of effort.
Codes :

(A) Only (4) is true
(B) Only (3) is true
(C) Only (1) is true
(D) Only (1), (2) and (3) are true

12. The view that ‘Punishment is a
negative reward’ is held by

(A) Kant
(B) Aristotle
(C) Hegel
(D) Plato

13. According to which of the following views,
value-judgements are essentially imperative?

(A) Intuitionism
(B) Prescriptivism
(C) Descriptivism
(D) Emotivism

14. Which among the following is a criticism
against the deterrent theory of punishment?

(A) Criminal may escape

(B) Against public opinion
(C) Violates human dignity
(D) Violates racial equality
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15. What can be considered the central theme
of eudaimonia for humans, according to Aristotle?

(A) Doing good for others

(B) Engaging oneself fully in
intellectual reflections

(C) Developing physical fortitude

(D) Being non-selfish

16. In Kant’s terminology, a maxim is
(A) a principle following which one acts
(B) a command of God
(C) a moral duty

(D) anaction that brings about more good
than any other action

17.  Which of the following is not true
for Rta?

(A) Rta is an important religious

concept occurring in the Rgveda

(B) Rtaistheprinciple of natural order
regulating the universe and
everything within it

(C) Rta is the opposite of truth

(D) Rta originally arose in the Indo-
Aryan period

18. Which of the following is relative to one’s
caste and stage of life?

(A) Sadharana dharma

(B) Svadharma and Sadharana
dharma

(C) Svadharma
(D) Lokadharma

19. The concept of Upaya-Kausala emerged in
the following text:

(A) Saddharma-pundarika- siitra
(B) Lankavatarasiitra

(C) Pramansamuccaya

(D) Nyayabindu
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20. In Jainism three jewels consist of

(A) samyag darsana, samyag jAana,
samyag caritra

(B) samyagdarsana, samyag prajia,
samyag samadhi

(C) samyag prajia, samyag caritra,
samyag sravana

(D) samyagdarsana, samyag prajia,
samyag sila

21. Which among the following expressions
stands to mean Lokasamgraha?

(A) Toperform actions for the benefit
of liberated Souls

(B) To perform actions for the
attainment of Liberation

(C) To perform actions for the benefit
of humanity

(D) To perform actions for gaining
material properties

22. What is not true for Applied Philosophy?

(A) It applies philosophical tools to
practical concerns

(B) It deals with gender issues
(C) It examines the essence of morality

(D) It deals with moral dilemmas arising
out of environmental issues

23. Whichof the following is not amoral issues
thrown up by Information Technology?

(A) Rapid propagation of rumours
(B) Sticking to undesirable moral values

(C) Inappropriate exposure before
children

(D) Issue of fake identities
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24. What is not true for Genome Sequencing?

(A) It reveals the complete genetic
constitution of a being

(B) It can be used for good and bad
objectives

(C) Itis value-loaded
(D) It has great medical potential

25. Match List-Iand List-I1 and select the correct
answer from the codes given below:

List-1 List-11
(a) Holmes Rolston III (i) Ecology of
Wisdom

(b) Paul W. Taylor (i) A sand county
almanaco : And
Sketches Here
and There

(iii) A New
Environmental
Ethics : The
Next
Millennium for
Life on Earth

(c) Aldo Leopold

(d) Arne Naess (iv) Respect for
Nature
Codes :
(@ () (¢) (@
(A) (i) 1) (@) (iv)
B) () Gi) (@v) (iii)
(©) (i) Gv) () (@)
(D) (i) i) @) (iv)
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26. Consider the following Assertion (A) and
Reason (R) and select the correct answer from the
codes given below:

: We should extend our
ethical consideration to
ecological whole.

Assertion (A)

Reason (R) : A thing is right when it
tends to preserve the
integrity, stability and
beauty of the biotic
community. It is wrong
when it tends to

otherwise.
Codes:
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)
(B) Both (A) and (R) are true but (R)
is not the correct explanation of (A)
(C) (A)isfalseand (R)is false and (R)
is not the correct explanation of (A)
(D) (A)isfalseand (R)is true, and (R)
is the correct explanation of (A)

27. Which of the following would not be
considered a breach of contract in a
surrogacy situation?

(A) Voluntary abortion of the fetus
without consent

(B) Pre-term miscarriage due to
multiple fetuses

(C) Failure to follow dietary
guidelines outlined for gestational
diabetes

(D) Failuretoabortthe fetus following
the recommendation of the
physician
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28. Whatis true for Philosophical Counseling?
(A) It aims to remove metaphysical
confusions
(B) It is just another name of
Psychiatric consultation
(C) It is a core component of
Philosophy
(D) It seeks to resolve conceptual
confusions regarding one’s
existential nature and experiences

29. Who was the officiating priest of Rgveda?
(A) Udgata
(B) Hota
(C) Adhvaryu
(D) Brahman

30. Ramanuja theory of causation is known as
(A) Asat karyavada
(B) Vivartavada
(C) Prakrtiparinamavada
(D) Brahmaparinamavada

31. Find out the correct answer from
the following:
According to Ayer the task of
Philosophy is
(A) to discover the eternal truths of
human life
(B) toanalysethelanguage of science
and common sense for the purpose
of clarification and meaning
(C) to put philosophy as the part of
folklore
(D) to inspire people to lead an
ethically authentic life
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32. Accordingto W.V.O. Quine the verification
theory of meaning is untenable on the ground

(A) itis no longer important

(B) ittries to verify each statement in
isolation

(C) ittreatsonly analytic sentences as
meaningful

(D) it offers solution to synonymous
sentences

33. Match List-I with List-II and select the
correct answer from the codes given below:

List-1 List-11
(a) Russel (i) Logical Atomism
(b) Wittgenstein  (ii) Family Resemblance
(c) Ryle (ii1) Ghost in the Machine
(d) Popper (iv) Falsifibility
Codes :

(@ (b) (© (@
(A) () () (@i (@v)
(B) (i) (i) Gv) (1)
©) @ av) (@) (ii)
(D) Gv) (i) (1) @)

34. To which of the following Nayavada is
related?

(A) error
(B) judgement
(C) matter
(D) knowledge

X-12
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35. Richard Rorty’s antirepresentationalism
rejects correspondence theory of truth because

(A) truthisamatter of coherence with
other sentences

(B) truth is a spiritual realization

(C) truthascorrespondence produces
a gap between the language and
the world that leads to the failure
of perfect fit between sentences
and state of affairs

(D) truth is the result of empirical
verification

36. ‘Arsenic is poisionous’— this
statement, according to A. J. Ayer, is
(A) Strongly verifiable
(B) Completely meaningless
(C) Weakly verifiable
(D) Not verifiable at all

37.  According to Isaiah Berlin which
of the following concepts of liberty is the distinctive
mark of modern liberalism?

(A) Positive liberty
(B) Negative liberty
(C) Bothpositiveand negative liberty

(D) Liberty from patriarchal
oppression

35. fwie wbn afsfiag fRead weam Terel
R SRjReIoRm A& I(; FI

(A) ST Sy ARFIACRS HC oA O
ISRk

(B) Tyl ¢ wiifes sgeq

(C) SrFoIAA ool Okl IR GolCes
&y GG I 7B 0 TN A @
efEfon ey o)ef ToEes e T

(D) 5ol FRAEF ABRFAER “ifeifs

36. e [Ee— |, (@, GHI9-99 W09, @
R 25
(A) MG G
(B) Tjfeita wi<gH
(C) THeTelra AibEwtey
(D) OFANL GBI T

37. FEwoR el [REes FEkiie esefm
W&y (@0 Isaiah Berlin-43 ste nygfas
TriITeIors R Cafigy f&aica 521 2re #iica 2

(A) M FHTO!

(B) 7S FHTl

(C) MLF G3R 7S FF Tl Teg
(D) Preefes e e Ife
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38. Consider the Assertion (A) and Reason (R)
and select the correct answer from the codes given
below:

Assertion (A) : The proposition “The
present king of France is

bald” is meaningful.

Reason (R) : The proposition “The
present king of France is
bald” is a truth-functional
compound.

Codes:

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation of (A)

(C) (A)is true, (R) is false

(D) (A) is false but (R) is true

39. Consider the Assertion (A) and Reason (R)
and select the correct answer from the codes given
below:

Assertion (A) : Later Wittgenstein holds
that the meaning of a

word 1s its use in

language.

Reason (R) : The use of a word
explains the meaning of
an expression guided by
conventions.

Codes:

(A) Both(A)and (R)are true and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A)is true, (R) is false

(D) (A) is false, (R) is true

38. afowdr (A) 93 IfEFFT (R)-<93
sifafree MaERe Frreskr s s Teas
ofar et

ST (A) ¢ “TIEF TS A T

TG 50 S |
2 PR IO A BIF-

J&” B0 G0 A2 F

@foF e |

&1 (R)

TRCPO 8
(A) (A) @& (R) T&32 M%) @R (R), (A)-7
o

(B) (A) 9=k (R) T&%2 719 € (R), (A)-7
5 A 7w

(C) (A) 7y g (R) fam
(D) (A) feent 58 (R) 77

39. gfewT (A) @R G (R)-
q7 “AfcafFcs faafaiie Aaesflz S

AfoF Teals ez Fepet ¢
AT (A) ¢ TEAAE RHCoTHIRA T
FET— I * =
2o ORI O 2|
g ¥FE S Abfere 2Ll
SRR *(tE 9
0 |

3f&<177 (R)

PO ¢
(A) (A) @R (R) To38 79y @R (R),
(A)-7 A5 g
(B) (A) @& (R) Tw3g 9 € (R),
(A)-= A< i 717
(C) (A) 75 @R (R) W
(D) (A) 2 @3g (R) 3oy
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40. Consider the Assertion (A) and Reason (R)
and select the correct answer from the codes given
below:

Assertion (A) : Gilbert Ryle holds that
the Cartesian theory of
mindis based onalogical
mistake known as the
Category Mistake.

Reason (R) : The facts of mental life
belong to one logical type
or category when they
actually belong to
another.

Codes:
(A) (A)is true, (R) is false
(B) (A) is false but (R) is true
(C) Both (A) and (R) are true but (R)
is not the correct explanation of (A)

(D) Both (A) and (R) are true and (R)
is the correct explanation of (A)

41. Which philosophical system among the
following holds that liberated souls devoid of
consciousness?

(A) The Jaina

(B) The Nyaya

(C) The Samkhya

(D) The Advaita Vedanta

40. zfoewFr (A) 93 I(EFFT (R)-<93
sifcefrce WalERe AraesiEr S s Tea®
ez et ¢

gfeeaar (A) ¢ a2 ET WO
TTAFE FIHAT ©F
‘eRRIRNe e I 9o
@ifes fTEma ©o7
Afsfre |

e (R) ¢ TP woiced [aafer
@3t Tifes 2139
TEYE, T4 A O
oS GEASICRICE

PO &
(A) (A) 3%y, (R) fiem
(B) (A) fayl, (R) 37y

(C) (A) @R (R) Te32 719 € (R), (A)-F
5 A 7

(D) (A) 93& (R) T&32 M%) @3k (R), (A)-7
o

41. fafrfe wefas sremrelr ww @b

A FE @ TS S (GoeIR 2

(A) o=
(B)
(C) AR
(D) SFevE
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42. Sartre gave his notion of ‘bad faith’ in his
Being and Nothingness. Which one of the following
is not true of this notion?

(A) In such a state (bad faith) we
believe bad things about others

(B) Bad faith is our natural capacity
to deceive ourselves

(C) In such a state we tend to believe
we are not who we actually are

(D) Itleads us to act in an inauthentic
manner

43. Who holds that even pratyaksa is
not a valid source of knowledge?

(A) Nagarjuna

(B) Dinnaga

(C) Jayarasi Bhatta
(D) Goutama Buddha

44. Find out the correct answer:
What according to John Rawls is the
basic principle of justice?
(A) Everyone must have food and shelter
(B) Everyone must be accountable to law

(C) The state must introduce elaborate
taxation system to protect the
well-being of the poor

(D) The principles of liberty and equality
must be honoured in the society

X-16

42. A S Being and Nothingness 918 ™
ReR el Sorgleml IR0 | @2 aRel [
Awfeiie Ieaafed S @G ey 3772

(A) @2 gl o™ S=RgR Sl
A AHCH Ao FU W FF

(B) eyl vt =1 fcame efeifie
TR Fellie e

© ﬁi\'MQRI IR SIIGRIRRSINES)
3, @b freieT 9 2_erel =

(D) «ft s SAE S Fe
FACO &JE I

43. (F N FET @ GG AOFFS @I (94
TeH w72

(A) wTiolree
(B) fwemiai
(C) I ©5
(D) es I&

44, 703 Teals 40 @3 79 ¢
el FEICT 0O WRGIET Gl Sifef Fi 2

(A) TSI A 8 ITZI SR=1B A

(B) SIIZE I TSI WG AFCI

(C) wiagma MLIFT T 1Y
Rifosi@ a9 TR 296 F4

(D) IS TR=}2 FIATOl €% AT
Tfex afs TAsIge e awife
16




45. Identify the philosopher who is a famous
logical positivist
(A) W.V.0O. Quine
(B) Rudolf Carnap
(C) David Lewis
(D) Emmanuel Levinax

46. Which of the following is the corrct
representation of the statement— “Only graduates
are eligible to sit for this SET examination”?

A G

B) G

(D
20
© o)
<y

47. Which of the following is the
correct symbolization of the sentence—
“Everything made of iron is attracted by
all magnets, when Lx : x is made of iron,
Mx : x is a magnet, Axy : x attracts y”?
(A) () [Ix 2 (y) My 5 Ayx)]
(B) : (y) [Mx 2 (x) (Iy o Axy)]
(© () [Ix> (EFy) My - Ayx)]
(D) : (Fy) My - (x) (Ix © Ayx)]

X-17 09

45, @ v (@ifes dorran, ©f Fo s
(A) W.V.O. Quine
(B) Rudolf Carnap
(C) David Lewis
(D) Emmanuel Levinax

46. TERTROSER Wy @FOE @ TN
FIeFq12 SET 21 1I% 7 &) $ge —2 AT
W foariel o1l T2

A G

© G

(D
o SO e
D
oy

D)y G

47. fasffresfem s @R 3 fog eTefffe
©l pFS @I ©I$S &' — Everything made of iron

is attracted by all magnets.’—42 LA Ao
ASIRIFRe, (I Ly IEICS (IR x is made of iron,

Mx 109 (IR x is a magnet, 9 Axy 109 (IR
X attracts y?
(A) () [Ix 2 (y) My D Ayx)]
(B) : (») [Mx o (x) (Iy © Axy)]
(© () [Ix> EFy) My - Ayx)]
(D) : (Fy) My - (x) (Ix D Ayx)]
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48. If A, B are known to be true, X and Y are
known to be false, but the values of P and Q are not
known, what can be said about the truth-

value of the statement?

[(A-X)VPIDY
(A) True
(B) False
(C) Unknown
(D) Neither true nor false

49. Which of the following statement forms is
not a tautology?
(A) {[(poq) >9)]-(pvn}>o(qvs)
B) {[(p>q) >8] (qvs)}> (pvr)
© pol~p>2(QVv~q)]
D) ~lp--P>~q]

50. To prove the validity of the
following argument which rules of inference are to
be applied?

ToU

ToV/ .. To>U-V)

(A) Conjunction, Distribution,
Implication, Simplification

(B) Conjunction, Implication,
Distribution, Implication

(C) Distribution, Implication,
Conjunction, Hypothetical Syllogism

(D) Hypothetical Syllogism, Transportation,
Double Negation, Conjunction

51. In which of the following Samadhi, Citta is
identified with some subtle objects?

(A) Savicara
(B) Savitarka
(C) Sananda
(D) Sasmita

X-18

48. T A, B 99y 20, X @R Y < 46 [e e
Grlell QICF, @R P8 Q-99 HNOJ TS e 1 I, Ol
TG 3 JHOF TG F 2 ?

[(A-X)VP]DY
(A) 7%
(B) faam
(C) w&T®
(D) eye =77, fiene 77

49. faxfefas Ipamels ey @t FosTes
372
A) {[p2q 29 (pvn}D(qVvs)
B) {[(p2qg) 29 (qvs)}D(pvr)
©) po[~p>(@Vv~qg)]
D) ~lp-q-(p>~9g)]

50. eferiee gfea Rael o= F9F &=
SRINICTR (I (I ol 2zl 0o 292
ToU
ToV/..To>MU-V)
(A) Conjunction, Distribution,
Implication, Simplification
(B) Conjunction, Implication,
Distribution, Implication

(C) Distribution, Implication,
Conjunction, Hypothetical
Syllogism

(D) Hypothetical Syllogism,

Transportation, Double Negation,
Conjunction

51. fcre (@i s foe g o Rews e
oA 237 ?
(A) ARBE
(B) AAfes
(C) A%
(D) Fre
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52. The debate between Pramana-vyavastha
and Pramana-samplava is carried between

(A) Nyaya and Jaina

(B) Vedanta and Samkhya
(C) Vaisesika and Yoga
(D) Nyaya and Bauddha

53. “Inastate of nature it is right for every man
to seize another man’s right and also to counter
appropriation of his own. It is a state of perpetual
war of all against all.”

Which of the following philosophers held
the above view?

(A) Rousseau

(B) Karl Marx
(C) John Locke
(D) Hobbes

54. Which of the following does Spinoza not
say about substance?

(A) Substances cannot be known unless
the causes of substance are known.

(B) Substances are known by their
essential attributes.

(C) Mind and body are substances.
(D) Substances necessarily exist.

55. Whichofthe following statements
is not true about Plato’s theory of Soul?

(A) Plato believes in the immortality of
soul

(B) Human soul is part of pure Reason

(C) Soul’s union with the body is an
impediment to its intellectual
aspirations

(D) The notion of soul is an illusion

52, Zie-GaEl @R 2R RE o e
(A) T 9% (&
(B) ([W[® @R AL
(C) @il @3k c@lat
(D) TR R (@&

53. Sl SRR 299 T 9RO
e w=ioas feaifael w41 251 egfen
Fices F | G 25 FHE [0 AFEF AT EE
RNSS TZH |7
ToifaSe wofb fwffee wifawom s &
CATTS AT 2
(A) =0l
(B) et wisl
(C) e T8
(D) =7

54, wI A fawfeieosfa S
@G Fritren e /4 2
(A) T IRl T @i o= 7
Srlell R A
(B) @I SRS @el[<feTd qidl g
erlell TR |
(C) T R (72 T& 447 |
(D) T Qe SRee 4 |

55. So3 @I AT (0 SN-9G 50T e 777 2
(A) (ZTH! SN S0y e S
(B) Il @ 2feaig oies!

(C) (2T AT SN AY[&<F A (1
@as THHIF 2T 2Afcans

(D) = s g9 @ @if®
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56. Which of the following is not John Locke’s
view?
(A) The two sources of our ideas are
sensation and reflection

(B) Once mindreceives simple ideas,

ituses its power to make complex
ideas

(C) Objectscan produce certainideas
in us which are qualities

(D) No qualities belong to object

57. Kant’s analytic-synthetic
judgements’ distinction firstencountered
a tough challenge in the writings of
which of the following philosophers?

(A) Ludwig Wittgenstein
(B) Bertrand Russell
(C) P.F. Strawson

(D) W. V. O. Quine

58. Arthavadavakya is accepted as vidhivakya
since

(A) it has a positive command

(B) it is complementary to vidhi and
nisedha

(C) it is the source of dharma
(D) itrefers to one kind of vedic sentence

X-20

56. fagfeaowlE T @D o wea T 772
(A) SN QKON Yo Seo— F@We
EERCraa
(B) e 7 7T 417090 571S (e, 94 O
e el IRRE I Sioe AiKell
Ty I

(C) L SR &y g il o
I @9Jfet el

(D) IECS (&I @9 ANCE

57. fanfie @R G o R
RS SRARCER MR A9 [ 2w @&
1o AT/ ARG T 2% 2

(A) TTefel TRBaPEIEA
(B) JiGie AewE

(C) T3, 9. B

(D) wIfere. f. e. @iz

58. s (g @ s st =3,
@ATS
(A) Gf6a FeF W Fom qEcE
(B) @it &fa @ s sifszs
(C) «@fb 4ol TeA
(D) @b G2 &AM A1
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59. Givenbelow are two statements one labelled
as Assertion (A) and the other labelled as Reason
(R). Considering (A) and (R) in the light
of Samkhya Philosophy, select the

correct code:

Assertion (A) : The Samkhya theory of
causation means a real
transformation of the
material cause into effect,
it logically leads to the

concept of evolution.

Reason (R) : The second type of
ultimate reality admitted
by the Samkhya is the
self.

Codes:

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) (A) is false, (R) is true and (R) is
not the correct explanation of (A)

(C) (A)is true, (R) is false

(D) Both (A) and (R) are true

60. Which one among the following, is the
cause of the magnitude (parimana) of trasarenu
according to the Vaisésikas?

(A) Number of the paramanus
(B) Number of the dvanukas
(C) Number of the trasarenus
(D) Trasarenus themselves

61. ‘The content of illusory cognition is only
real” — this view is advocated by

(A) Yogacara School

(B) Visistadvaita School
(C) Samkhya School

(D) Advaita Vedanta School

59. gfeeERy (A) 93k G (R) = 706
SRR (ST TR | 92 2SI (A) 4R JE<

(R)~93 “AfcafFe fm Sl weowl @
o et e ¢

2AECRTFT (A) ¢ AR FASLTCG STAI
I oI ToAml IR

23w Afgerw, «fb
@feseita  sfadw
Al Ave |
e (R) 2 kY iy Sl @ oaw
oeglb R 2T, ©f T
7T |
PO 8
(A) (A) @32 (R) T&32 7M9) @3k (R), (A)-F
Ao i
(B) (A) ¥, (R) 797 €% (R), (A)-7 AT
RIENCE

(C) (A) 377 @& (R) fatem
(D) (A) @3¢ (R) T2 7y

60. TIRfeTROlE sy @G @ik
A0S DR AT Fel 272

(A) IR A
(B) @G 2!
(C) TCER 3l
(D) TPTCRefeT 73

61. IR [T (FIEANG AL — B (07 AT
2T
(A) @I9NGE T=mT
(B) fif*itae remi
(C) AR =M
(D) SI(AS (qWIE H=WR

[ Please Turn Over ]



09

62. According to the Naiyayikas padasakti is
(A) an additional padartha.
(B) an eternal padartha.
(C) arelation between two padarthas.

(D) a relation between a pada and
a padartha which stands for it.

63. Matchthe following and identify the correct
one from the codes given below:

X-22

62. TITORPAE 2 za1

(A) @ wfsfae »mie|
(B) @G forey il
(C) b LT TR T |

(D) =6 7 ¥ €3 2w 7l WeRe
ST AT |

63. OfFFLl G G- G @R W

List-1 List-11
(a) Tattvakaumudr (1) Samkhya
(b) Tattvarthasiitra (i1) Jaina

(c) Tattvasamgraha
(d) Tattvadipika
Codes :

@ (b @ @

(A) () @) @ii) (@1v)

B) () @) () aGv)

©) @G (@ aGi) aGv)

(D) Gv) Gi) () @)

(iii) Bauddha
(iv) Vaisnava

64. Which of'the following is necessary for the
knowledge derived from Upamana

ATE LS AT B AT (ST el et 2

-1 P11
(a) \9\‘?@5 Sff (1) ARy
(b) ©@ITE (i) o
(c) TPIKaR (i) =
(d) wenifoe! (iv) 3=
PO :

(@ (b (© (@
A) @@ () i) (@Gv)
B) @ (i) () (@Gv)
© G @ G (@Gv)
D) @v) (i) G @)

64. fxeriRoslem Wy @R SFRNGN 00

T A &

R Tl I

Pramana according to Ptirva Mimamsa?
(A) the relation between a word and
the object denoted by it
(B) the common features belonging
to a class of objects
(C) the similarity of the perceived
object to the remembered object

(D) the similarity of the remembered
object to the perceived object

(A) ¥ @ ©iF 7l Fi*ie g 79+

(B) <=6 uifeiaergsie e
o

(C) Aorwerg RAEE A Yrod =l
Al RET-GF Ay

(D) =fed ==l 2l R 10t efors-
& -7 A=)
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65. Which statement is true for
Pramananupapatti?
(A) Pramana is required for realizing
God
(B) Pramana itself cannot be proved

(C) There is no Pramana for the
knowledge of Avidya

(D) Pramana is always relative to
Prameya

66. Which of the following is not included in
Satsampatti, in Advaita Vedanta?

(A) Sraddha
(B) Vairagya
(C) Uparati
(D) Samadhana

67. According to Nyaya philosophy which of
the following statements commits the fallacy of
Viraddha?

(A) Soundiseternal,becauseitis produced
(B) Wherever there is fire, there is smoke
(C) Thehill has fire becauseitis knowable

(D) Soundiseternal because itis audiable

68. Who says “The Vedanta teaches man to
have faith in themselves first”?

(A) Swami Vivekananda
(B) Radhakrishnan
(C) Rabindranath Tagore
(D) Sri Aurobindo

65. AeNioifed (e @ Al 7L
(A) 5T THFTGT T 2ol SR
(B) @il FR 2SeF @il Bra 20« =1l
(C) SRR @I @I 2l @2
(D) 2ol W SATE-AICAT

66. TR @RS SI7© (@I TP AoTi e
TEGE 7 2
(A) =l
(B) =il
(C) Toafe
(D) =gl

67. TRV S @ e
@SS RIS ?
(A) == oy TR ©f Teof 2
(B) (@M @A X GG GIIC 43
(C) »Kefb afzwe Fiae @ Tt 7w
(D) == ooy 7l ©f #7e190

68. (T I “TAMIE AT AL frea aifs
iR Zlola e 7
(A) T e
(B) el
(C) F@m=iel IIFF
(D) &t wrafaw
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69. Who among the following did not work for
the upliftment of the status of women socially,
economically and politically?

(A) Jyotiba Phule

(B) B.R. Ambedkar

(C) Ishwar Chandra Vidyasagar
(D) Radhakrishnan

70. What does Krishna Chandra Bhattacharya
mean, when he speaks of ‘Swardj in Ideas’?

(A) One frees oneself from political
dominance.

(B) One frees oneself from cultural
subjection.

(C) One freesoneself from the web of
superstitions.

(D) All of the above

71. “One Caste, One Religion, One God for
Man” is the teaching of

(A) Sree Narayana Guru
(B) B.R. Ambedkar
(C) M. N. Roy

(D) Jyotiba Phule

72. According to Krishnamurti,
revolution in the psyche of an individual requires

(A) holistic transformation from within
the self

(B) only intellectual development of the
self

(C) religious practices
(D) only cultural development of the self

69. 7ty Sike fem I @ e e,
Tfafeos @ AEtes 7T (A K Wi
Tafed s e ATl 2

(A) Ceifedt e
(B) . 97, Stawd
(C) ==vm fqurTioE
(D) SFzale

70. T4 FABW OGS ‘Swardj in Ideas’-47 T2
T, O fofd @RI 2

(A) Mo e wifdee (A Ie
41 |

(B) et Aicghes el (S T& 41 |
(C) e PAFIET e (A & 41 |
(D) ToI(d TR0

71, “NHEA G G629, @B e,
90 SR — @2 R s

(A) & TR @

(B) . w4, witawa

(C) g¥. &=, 17

(D) ceyifear e

72. FRE6F (O Jied AT M KA
G SRS 25

(A) SI9F TSP ANEF AAEH
(B) WA (&3 (qifa<s Sglaife
(C) 4T SN

(D) SIIA (T AFoT w2lolfs
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73. What is dandaniti in the Mahabharata?

(A) The art of Governance or the
science of administration

(B) The detailed account of the
organizations of Government

(C) Theadministration of punishment
(D) The characteristics of a king

74. Narada’s questions to Yudhisthira reflect
that

(A) the ruler should be a good human
being.

(B) the ruler should have six royal
qualities and should follow the
eight duties before making
alliance.

(C) the ruler should try to expand his
territory.

(D) the ruler should have good
physical health.

75. When the offsprings inherit the father’s
name, the family is called

(A) Patronymic
(B) Conjugal

(C) Patrilineal
(D) Patriarchal

76. According to Kamandiki which is not the
upaya from which an object can be realised?

(A) Sama
(B) Dana
(C) Svamin
(D) Danda

73. TFERCe NeNS TS F @RI 2
(A) HPCET D121 2P TRETe [l
(B) "=ify afewmafer feifts R
(C) =i G 2T <3l
(D) <& G (AR

74. T TS JMAR-F Fo aelE ey fw
Afewfere 23

(A) T SIR*13 TG T 203 |

(B) *IMCa SR*I2 = e el A
a3k fof fi@erzisie o sz =5 h
T P FACEH |

(C) *IPTFSRZ O AT AN 21
FAA (BB FAE |

(D) *IPFOI*2 T =R I S
(AT |

75. UG TGS CeIfEH e

(A) PIGIWE
(B) el
(C) CoAGferierze
(D) coAfGaie

76. INVIF MO WHG @0 @ TG
STGie TR GATRCA Ay T2

(A) AN
(B) wi=
(C) =S
(D) e
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77. Theseven elements of statecraft, according
to Kautilya
(A) Svamin, Amatya, Janapada,
Durgamata, Kosa, Danda, Mitra
(B) Svamin, Amatya, Janapada,
Durga, Kosa, Danda, Mitra
(C) Svamin, Amdtya,
Sadasajanapada, Durga, Kosa,
Mitra, Danda
(D) Svamin, Amatya, Janapada,
Durga, Kosa, Danda, Satru

78. The figure of a Standard Form Categorical
Syllogism is determined by

(A) the position of Middle Term in
both the Premises

(B) the position of the Major Term
and Minor Term in the Premisses

(C) the position of Middle Term in
the Minor Premiss

(D) the position of Major Term in the
Premiss

79. Which of the following is a branch of
applied ethics that studies the philosophical, social
and legal issues arising in medicine and the
life sciences.

(A) Medical ethics
(B) Bio-ethics
(C) Legal ethics
(D) Social ethics

80. Which of the following is the
contrapositive of “Some authors are not
intelligent”:
(A) Someintelligent (persons)are authors
(B) No non-intelligent (persons) are
authors
(C) Some non-intelligent (persons) are
not non-authors
(D) All non-intelligent (persons) are
non-authors

77. (RO O SEPAIE G IR A
g ¢
(A) TN, SISy, Tisin, gofTel, (I, e, filg
(B) =1, Srey, eisi, 751, (17, 7, W@

(C) FN, S, @C*Tm, 7o, &,
e, vy

(D) R, SISy, T2, 4o, (I, 0, %@

78. I o Sy SR kg e 2n
(A) T G (R SRZIE 7

(B) Y& oI Q3R 2Fo0d SRBI
7

(C) W= Y& @9AME SRZII 74!
(D) I AGAME SRR 2l

79. FERiRestm i @HE wlre
Tfexiicga @ =iral, a Hfsen axz
Glae st Tge wfe, Aifess ¢ i
T fet STErEe |

(A) ol tafsset

(B) (&4 (feel

(ORICCRCISEN)

(D) ANIfE (wfeel

80. TIFfI®w ke (@R @I @IE! @1
T I - 9T AR ¢
(A) Some intelligent (persons) are
authors

(B) No non-intelligent (persons) are
authors

(C) Some non-intelligent (persons)
are not non-authors

(D) All non-intelligent (persons) are
non-authors
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81. Match the following and identify the true 81. Okl <2 ALl (e O<2 ey
one from the codes given below: oG FL(FS AL T T (Gl el e ¢
Olferpr-1 olferpI1
(a) TCIF Og (i) TeEre!
List.I List-1l (b) G W (i) e g
. . (c) TS el (i) F=esrs @
(a) Product Theorem (i) Probability .
(b) Sorites (i) Square of (d) AMMEFOIT CMT (iv) ﬁﬂw
Opposition PO
(c) Subalternation (iii) Categorical (@ (b (© (@
Syllogism A) () G Gi)  (@Gv)
(d) Existential Fallacy (iv) Boolean B) @@ @) G)  (@Gv)
Interpretaion © G (@) aGi) (@)
Codes : D) @) i) Gv) @)

(@ (b (© (@
A @O @ (@) Gv)
B) @) @) () Gv)
© Gy @ @) Gv)
D) G @) Gv) (@)

82. To which category of the following, does 82. fanferow sy Sawe’ ol
the act of sandhyavandana belong, according to 515 ST TS @ AFET TTGo(© 2
the Miméflsakta? ] A) Fram = :

(A) Niskama karma fre
(B) Nitya karma (B) o qm/
(C) Kamya karma (C) sy =
(D) Naimittika karma (D) tffes 5
83.  Which one of the following is not 83. ffefeuferm g @A wies Fof
an ethical guideline? T2
(A) Developing respect for all life (A) 5 SR 2 Waia S
(B) Understanding how nature suffers
B) 2iFfeq TFIE Soleti a1l
(C) Considering humans as the ®) - -
predominant species (C) T a4 Zerifoncel bl
(D) Seeking of environmental wisdom <+l

(D) #Afic=iare Zieaiz THiq T2

[ Please Turn Over ]
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84. Which of the following holds true in the
occurrence of the Fallacy of Converse Accident?

(A) Wrong application of a general
rule to a particular case.

(B) Something is wrongly identified
as a cause.

(C) Hasty generalization is done on
the basis of exceptional cases.

(D) Irrelevant conclusion is drawn.

85. The indirect way of justifying a particular
conclusion by exposing the absurdity of its negation
is known as

(A) Vada
(B) Siddhanta
(C) Tarka
(D) Nirnaya

86. Plato holds that Knowledge is not the same
as opinion because

(A) Knowledge can be manipulated.
(B) Knowledgeisbehavioural disposition.
(C) Knowledge can be true or false.

(D) Knowledge can only be true as
knowledge consists of universal and
objective Ideas.

87.  Whichofthe following statements
is true according to Kant?

(A) Knowledge of noumena can be
had through reflection

(B) Knowledge of noumena can be
had through intellectual intuition

(C) Knowledge of noumena can be
got through phenomena

(D) Knowledge of noumena is
impossible to have

84. FwfTiowfm e @mﬁa (%#C4 Fallacy of
Converse Accident-49 (M 7o) 208 M TR ?

(A) 37 ReeT 30 @i s e
e At

(B) It g el BT welws
o <=

(C) Rrag sw=h e [Rediag wiaiy
I@ o fSfare wo AT
B

(D) SPiES Frare fHze S

85. i [y Praices eRIgheon w@fewsl
A I €3 Prase AT amd Fa9 Aw@w
Azl 2e1

(A) Im
(B) Prar®
(€) =%
(D) fefa

86. (25! <= I (A Tl SFoTo-G TAIN9eT T4,
Fae

(A) ST TFACET I @CO AN |

(B) @ 25 SIibRe9e 2o |

(C) eI oy 1 2y 20 I |

(D) (FIETE S8 7] 2 2N, 7
@l AR @ JEgee g F@
5if9re |

87. NS &I AW FICOH O SPAICT ) 2
(A) FNEERIT G AT T
AN @ACO 7
(B) FETHI'F @ (q1fes TSI NG
AN @O 7
(C) WA @I IS WL
AN @ACO 7
(D) FEEA'F W@ TS T SAGT
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88. Which of the following is an analytic
statement according to Kant?

(A) Evil exists in the world
(B) Bengal is larger than England

(C) A kilogram contains thousand
grams

(D) A computer is faster than
calculator

89. Whichphilosopher of the following explores
the notion of ‘theoretic grades of consciousness’?

(A) K. C. Bhattacharya
(B) J. Krishnamurti
(C) Sri Aurobindo

(D) S. Radhakrishnan

90. Which of the following statements is/are
not true about Spinoza’s notion of substance?

(1) Substance is finite.
(2) There are two substances.
(3) Substanceiscausasui(self-caused).

(4) Allqualities and action of substance
follow from its very nature.

(A) Only (4) is not true.

(B) Only (3) and (4) are true.
(C) Only (2) is not true.

(D) Only (1) and (2) are not true.

09

88. fCwa (A FICHF TORPE RS A 2
(A) TS ST SR
(B) 3% 3<ET (A AT
(C) &= fReTalie g BIeld all¥ A

(D) G0 FIBIF GFb FEAF AT Do
TSP

89. fagfaide nifawma W & weae oifes

P

AR -G =N 1T ez 2
(A) . 1. SBI6RG

(B) (&. F2[E
(C) & wafaw

(D) <1, AERReld

90. fasfere @I Al (T e varoe
AR ) N 2

(1) @y 2&1 50 |

(2) T35 2 900 |

(3) T =& TG |

(4) T FTA (AL OF IO @ @
Tl fepe 21 |
(A) (TG (4) 9] 3
(B) (&I (3) @3% (4) 379y
(C) (FI=TIG (2) g5
(D) (F<eTg (1) @< (2) ey °7
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91. “One is not born, but rather becomes, a 91. “GIE 1< 0 G L, A 2R S — 3
woman.”— This statement has been made by 3 9T

(A) Germaine Greer

(B) Betty Friedan

(C) Kate Millett

(D) Simone de Beauvoir

92. Which of the following statements is not
true with regard to Patafijala Yoga?

(A) God is one among Purusa.

(B) Patafijala Yogaadmitsthree pramanas.

(C) Patafijala Yoga advocates Monism.

(D) Patafijala Yoga admits ‘cittavrtti
nirodha’ as Yoga.

93. Choose the false statement, in the context
of Madhva Philosophy

(A) Sayujya represents the highest level
of bliss attainable by the liberated
soul

(B) God creates Prakrti
(C) Some souls are eternallly liberated
(D) Godis the efficient cause of the world

94. Which ofthe following texts was composed
by Vasubandhu?

(A) Abhidharmapitaka
(B) Visuddhimagga
(C) Milindapanho
(D) Abhidharmakosa

(A) Germaine Greer

(B) Betty Friedan

(C) Kate Millett

(D) Simone de Beauvoir

92. ATEEl-QI57T=I(S fFfe [yfe wlmswy
IS ey 77 2
(A) 5T ZE FFEA T AT |
(B) Megsr-iel foalt 2l Fiee 73 |
(C) oG- @IREM A</T F(J |

(D) Arege-@l% T = “egfe-fFmi’
e @9 |

93, M= (@fFre s a9
e et ¢

(A) e 25 TEGIEE 71 Aifcial
AN STw
(B) 7 Ao AR =

(C) @I @I G fTore
(D) %7 Gt ffre el

94, s Tle @ 220 PRg abo?
(A) Sfeasiets
(B) faefasms
(C) fferwsezl
(D) SIfeLsiCIT
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95. Consider the Assertion (A) and Reason (R)
and select the correct answer from the codes given
below:

Assertion (A) : The Samkhya-Yoga

philosophy hold that
mind is all pervading.
Reason (R) : They believe that Purusa
is ‘Pure Consciousness’.
Codes:
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)
(B) Both (A) and (R) are true and (R)
isnot the correctexplanation of (A)
(C) (A)is true and (R) is false

(D) (A) is false and (R) is true

96. In Vedanta, Atman associated with the
waking state of Jiva is called

(A) Vaisva
(B) Prajna
(C) Taijasa
(D) Hiranyagarbha

97. Which ofthe following journalistic standard
and ethics emphasise independent fact-cheeking

(A) Style

(B) Accuracy
(C) Presentation
(D) Privacy

95. FfeeEIF (A) 93k IfFNFT (R)-43
sifcefrce MR Agsest @ 7 Tea
e ¢

2AfeeRTITT (A) ¢ AR5 e 0 o 757
LA |
¢ Ol R W @
o] @G (5] |

&1 (R)

PO ¢

(A) (A) @32 (R) T332 7M9) @3k (R), (A)-F
RiIPEISE)

(B) (A) @3k (R) T&x8 79 €% (R), (A)-F
5 A 7w

(C) (A) 7197 @ (R) fua

(D) (A) N2 @3 (R) 3oy

96. @IS TILSFA G HX AT
EICF <&l =Y

(A) =9

(B) &es|

(C) toe

(D) fegerars

97. fagERe ArAfred W 3R Tifowka T
I FIATOIC O @77 @G SN T
(A) &t
(B) Tl
(C) Togioe
(D) (o7l
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98. Which of the following statement(s) is/are
the stance of liberal feminists?

(1) Principal objective of the feminist
movement is to gain equal rights for
women as well as men.

(2) Modern societies need to be
reformed.

(3) Modern societies need to be
transformed through revolutionary
means.

(4) Gender integration is vital to the
achievement of feminist goal.

(A) Only (3) is true

(B) Only (1), (2) and (3) are true

(C) Only (1) and (2) are true

(D) Only (4) is true

99.  Which of the following is not true
about Karl Marx’s philosophy?

(A) The idea of alienation was a
recurring feature of Marx’s
Writings.

(B) He held that there is no alienation
in society.

(C) The idea of alienation shows that
the more value a labour creates
the more he devalues himself.

(D) The idea of alienation shows that
product and labour of a worker
are estranged from him in a
capitalist society.

100. Which of the following
philosophers used the expression
‘Nascent Societies’?

(A) Rousseau
(B) Locke
(C) Hobbes
(D) Karl Marx

98. fferie apaalem s @ @b Sniasigl
TR SZ 2
(1) TR SR LT S0 2 7T
SO AW I SR BTG |
(2) SNYRT ST (i LTS |
(3) SIYfeE TICEE AR Ty (qafE
ToAIT LTS |

(4) TN T DS Gy 575 Rl
gl |

S 2
(A) (1 (3) 719y

(B) &34 (1), (2) €% (3) 77
(C) @3 (1) 9% (2) 7%
(D) (T (4) 7199

99. fasfresfem Sy @b T wcsfa wiw
2T TeJ /7 2

(A) & Wesfa v [ivzaee gi@e
GG sFaRe ey |

(B) o =1 F@a @ WS @I
Rftesrel 12|

(C) fafbemom «@=ed IR @ G
=i T &N ee FH, (1 00
e SReEnifEe 6 |

(D) Rftemo «Fel @ @ @
[ S T S et e
(A i w3 |

100. SEERewRT= S & Nascent Societies’

oS &

\'NI(;NJI@IU RIT FCACR ?
(A) el
(B) &<
(©) =27
(D) et i
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